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1 A train leaves Zurich at 2240 and arrives in Vienna at 07 32 the next day.

Work out the time taken.

2 From a sample of 80 batteries, 3 are faulty.

Work out the percentage of faulty batteries.

faully botlises O. 63 #100~ 3. AS%
fotul 0

3 Write 1.27 x 1073 as an ordinary number.

SRR

SN

Calculate (2.1 —0.078)!7, giving your answer correct to 4 significant figures.

(11- ooq»@“" 1IS?862. 7163

O [{fll//g f}qoo IS?qOO ............... [2]

5  Omar changes 2000 Saudi Arabian riyals (SAR) into euros (€) when the exchange rate is €1 = 5.087 SAR.

Work out how much Omar receives, giving your answer correct to the nearest euro. -~
=

1000 . 393./590528
S 087

Y S
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6  Find the lowest common multiple (LCM) of 36 and 48.

2(. 36 71 103

7 y=mx+c

3%-2)(‘5‘3 -3
6: )Lf"g - “

Al

8 y D

Write x in terms of p, ¢ and y.

-4
UP
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NOT TO
SCALE

Triangle ABC is isosceles and AC is parallel to BD.

Find the value of a and the value of 5.

q-=180-40 = 70
L

b-gp-70 70 . 70

[{»’0 [ Lf O ..................... 2]

10 The sides of an equilateral triangle are 9.4 cm, correct to the nearest millimetre.

Work out the upper bound of the perimeter of this triangle.

94
8 UB -
L \\
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A, B, P and Q lie on the circle, centre O.
Angle APB = 56°.

Find the value of
x’ IL
= ()\ N 8 é

(b) .

QGG

13  Solve the inequality.
n+7 < 5n-38

748 Lon- 1
154

S 3.75<n .
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NOT TO
G SCALE
J
A E B

The diagram shows a rectangular garden divided into different areas.
FG is the perpendicular bisector of BC.

The arc HJ has centre D and radius 20 m.

CE is the bisector of angle DCB.

Write down two more statements using loci to describe the shaded region inside the garden.

The shaded region is

. nearer to C than to B D
JIVOM 7—0!\/\ ..... HOIV\,

15

(a) Find i€ next term in this sequence.

(b) Find the nth term of the sequence.
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16 Without using a calculator, work out g + 1% .

Show all your working and give your answer as a fraction in its lowest terms.

17 Five angles of a hexagon are each 115°.

Calculate the size of the sixth angle.

6 _ZI)}QI?O - 720
270 - (1158

18 A car of length 4.@is travelling at IO@h.
ridg

It passes over a bridge of length 36@

Calculate the time, in seconds it takes to pass over the bridge completely

)< IDOO 7

{,ﬁ_: 3€+4.3 _ 1.38/:“4286
S 574

© UCLES 2016 0580/21/M/J/16 [Turn over




8

19 The probability of a cricket team winning or losing in their first two matches is shown in the tree diagram.

First match Second match
3 win
4
1 win
3 1 lose
4
3 win
4
2
3 lose
1 lose
4
Find the probability that the cricket team wins at least one match. '/

(UO,‘JO>= I/BXS/L/' +
(UO/L> ‘/3 g ‘/Ll— + 2

(L, w) L x Y4

ih

W\
<

I
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20 AB is an arc of a circle, centre O, radius 9 cm.

- ! g
The length of the arc AB is 6 wcm. G
The area of the sector AOB is kncm?.

Find the value of k. NOT TO
7{ 5 SCALE
7 _
6 « ]7/ q9- = 6 )
—

21 yis directly proportional to the positive square root of x.
Whenx=9,y=12.

Find y when x = 1 .

%)4:-/({50 . 3#%'
o % = 4 and 9 J- %
(2 - KI9
|7 = 3K

L
% = /{ = 4 yQ- ............................ 5
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22
e
? 12

The Venn diagram shows the numbers of elements in each region.
(a) Findn(4n B). 3

................................................... [1]
(b) An element is chosen at random. WB \q

Find the probability that this element is in set B. ?H ?-,7.
’ 0 ................................................... [1]
(¢) An element is chosen at random from set 4.
Find the probability that this element is also a member of set B. ?

\’D ................. [1]

(d) On the Venn diagram, shade the region (4 U B)'. _—Q &Ot k D( R [1]
23
D 8cm ' C
)
U | 8em NOT TO
S | SCALE
[ ] L dom N
4 12em |

Calculate the area of this trapezium.

bmm
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24  Factorise completely.

(a) 2a+t4+ap+

2o+ 2) + 90+
[a +2)(2 +®)

S [2]
18] - W)
1.(9 +26)(A -26)
................................................... [2]
25 A is the point (4, 1) and B is the point (10, 15). Céo/‘:>

Find the equation of the perpendicular bisector of the line 4B.
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26

7em NOT TO

A SCALE
B

10cm

(a) Calculate the area of triangle ABC.

v 7 x(0x52. (36)
- 90.0381#327

(b) Calculate the length of AC.
L g 10x Cod35)) = ,[}C
P I0% - (P
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